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gnit 3A D_ay 3 and 4: Rates of Change on a Graph
ocus Question: How do [ Jfind rates of change from a graph?

Hour:

A. Slope in Context: pay
Slope (rate of change) is referred to a&;’/’\%—
L= v

When a graph is decreasing, the constant rate of change is ﬂzﬂaﬁzg—__
When a graph is increasing, the constant rate of change is ﬁpslﬁia__—
When a graph is constant (or Afy/’c‘aﬂ/”’ ), the rate is ..._@_

When a graph is a vertical line, the slope is Ma/e:enf/

*When we find a rate of change on a graph,sitis conventional to leave it as the ratio'(fraction) because it
is easier to graph whole number rises and runs (and not all independent and dependent variables come in
decimals...ie. can you have 0.7 people per room?).

Slope is represented by the letter yn for movement (the path-along which the object is

moving.)
= X ‘fb

Find the find the slope of each graph. Then, explain what the rate means
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B. Not all graphs have labels on the x and y axis (context), but you can still find the slope!
Give the rate of change for each graph below.

C. Partner Practice
Find the rate of change from each graph below.
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9) Tommy was given the graph below and asked to find the slope Hcé

Explain his error(s) in reasoning,
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Please Be Careful...Sometimes you might have to find your own points
v Remember tofind points'that are EXACTLY: where the line meets “
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